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Write your Roll No., Answer Sheet No., in the specified
places given above and do your signature.

Make all entries in the OMR Answer Sheet as per the given
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After Opening the seal, ensure that the Question booklet
contains total no. of pages as mentioned above and printing
of all the 100 questions is proper. If any discrepancy is
found, inform the invigilator within 15 minutes and get the
correct booklet.

While answering the question from the question Booklet,
for each question choose the correct/most appropriate
option out of four options given, as answer and darken the
circle provided against that option in the OMR Answer
sheet, bearing the same serial number of the question.
Darken the circle only with Black or Blue ball point pen.
Darken the circle of choose option fully, otherwise answers
will not be evaluated.

There are 100 objective type questions in this question
booklet. All questions are compulsory and carry 01 mark
each.

No negative marking will be done.

Do not write anything anywhere in the question booklet or
on the answer-sheet except making entries in the specified
places.

When the examination is over, original OMR answer sheet
is to be handed over to the invigilator before leaving the
examination hall, while question booklet and carbon copy
of the answer-sheet can be retained by the candidate.

11. This question paper consisis of five parts namely :-
Part | Particular No. of Ques. | Marks
1 General Mental Eligibility 30 30
11 General Knowledge 20 20
111 Educational Interest 30 30
IV | General Hindi 10 10
\% General English 10 10
12. All questions are compulsory.

13.

In case of any ambiguity in Hindi version / English version
the English version shall be considered authentic,
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PART -1
General Mental Eligibility

1.  Fish: Ship :: Bird : ? L.

A. Flying
B. Pigeon

C. Aeroplane

D. Feather

2.  How many triangles are there in this 2,

figure?

A. 13

B. 14

U

D. 16

3. If roads were rivers, walkers would be- 3

A. Fish

B. Crocodile

C. Swimmers

D. Boats

Ut ; ST ;- Tatear: 2
A.
B.
k.

D.

YTHT QTS T

381

chddl
N

EIEERE

g

Frefafaa stmefa ® forae Bgs 22

o a W »

13

14

15

16

afe T Afeai & af Yac g aret ol

A.

B,

B D]

HillH ™

GRED
I
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4. Solve the following equation and tick
the correct answer.

7Xx-21-3x+13=7+6x-16
A. 5
B. 2
C. 1
2

L), 3

5.  The population of a town increased from
60,000 to 65,000. Find the increase
percent?

A. 10%

5 10la
3

C.
lll%
3

D.

8 —%

L
3

6. A train with a speed of 60 km/hr crosses
a pole in 30 seconds. The length of the
train 1n meters 18-

A. 1000
B. 900
L. I

D. 500

frricTRard wHTehoT sl a1 oL Ud el 3uL
ol Fefegd hi-

7x—21-3x+13=7+6x—-16
A. 5

B. 2

C. 1
2

D. 3

Ush IT8T shl SHEEAT 60,000 T T&H 65,000
=1 STt 21 gfes o6 wfewra s g

A. 10%

B.
lUl%
3

60 for =i /e i 7fd O I arelt ueh
TATTET Uek @rl &l 3() UHUE | YT L] B

TTEl i Hier & awaTE Biii-
A. 1000
B. 900

C. 750

D. 500
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A box contains 4 black balls, 3 red balls

and 5 green balls. 2 balls are drawn
from the box at random. What is the
probability that both the balls are of the
same colour?

A 41
68

Find odd name from the following-
A. Kurukshetra

B. Panipat

C. Haldighati

D. Sarnath

What will be the mirror image of the
following shape?

VAN

"
X,
A
A

Uk o H 4 AT dfed, 3 AT i, 5 &4
Sict & 9o H | 2 St A1g o ¥9 |
frerTett ST 21 14T afet Uk &1 01 o 814 &I
YTRrehdr fera=t 27

A. 47
68
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+ =~ +=-
" _=x
K= W= =
+~ =+ =4
Then what will be the value of ar 2= 6x6=2 T H FT BT
2+6x6+27
A D A. 2
B 5 B. 3
C. 4 C. 4
D. 10 D. 10
11. A machine is sold for Rs. 5060 at a gain 11, 10% & &9 92 Uah J30H 5060 %. J s=i 3|
of 10%. What xf.fn_uld have been thg gain gfe 9 4370 %. 9 <1 SITdT dl AT AT 81
or loss pf.::rcent if 1t had been sold for T T T e
Rs. 43707
A. Profit, 5% A. A, 5%
B. Loss, 5% B. B, 5%
C. Profit, 8% C. @, 8%
13 L(}SS, 7% D. E'lﬁ', 70/,
12.  Fill appropriate number in the place of 12.  ggar=es (des o T 1 3d 3% Wi-

question mark-

PO® WO

A. 20
A. 20

B 23
B. 25

L. 26
C. 26

D. 75
13 5
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13.

14.

13.

Starting trom his place Ravi walks 3
km. then turns right and walks 4 km.

then again turned left and walked 4 km.

At last he was going to the south
direction. In which direction Ravi
started his journey?

A. North
B. South
C. East
D. West
Which of the following figure correctly

depicts the relationship of science,
physics and chemistry?

€
e
&

QD

A boy buys a pen for Rs. 25 and sells it
for Rs. 30. Find his profit percent?

A. 15%
B. 25%
C. 18%
D. 20%

13.

14.

15,

ol 39 ¥ ¥ 3 fop HT. = o o1
AT qgar 4 foh HI. T, TH: ST 3R HZRL
4 fop i, =rem| 31=q | a5 aféqor fawmm 6 31
ST Tt oMl Ter = fora e & w3 < ot

A, 3L

B. afar
C. @@
D

N

. gfgm
= ® ° & 9T 31repfd fagm, e,
T & oY &l Gal TohH Jeieid il 22
A.

- QD

Ush dTeteh Ush U9 25 &, § @iieeht 30 ¥9U ¥
S<IdT &1 3Tk T kT IfeTd <=1 BT

15%
25%

18%
20%

C 0w p
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16. A tank is filled by two pipes A and B in
24 minutes and 32 minutes respectively.
If both pipes are opened, then after how
much time B should be closed so that
the tank will be filled completely in 18
minutes?

A. 6 minutes
B. 8 minutes
C. 10 minutes

D. 12 minutes

17.  In the following pairs find out the odd
pair-

A. Leg—hand
B. Eye —nose
C. Body —head
D. Wrist — finger
18. If the code for MOBILITY is 46293927,

then the code for EXAMINATION will
be-

A. 45038401854
B. 56149512965
C. 57159413955
D. 672506623076

19. A is twice as old as B. 8 years ago A
was thrice as old as B. What are the
present ages of B and A?

A. 12,30
B. 14, 30
€ 10,30
D. 16, 32

16.

17.

18.

19,

U ooh, U159 A Ud B o g1 sh83T; 24 fime
ug 32 T ° v 81 9fe g[T 9rsy @i fou
SATU a1 B 1 fohd< 99 91 98 3T U=

for 2o 18 fiee o i 79 9 s ST

A. 62
B. 8 e
C. 10T
D. 12152

=1 St o o TSt s o ygaH-
A. TT B

B. 3@ - AT
C. i -far
D. FdTE — 3Tt

MOBILITY &1 %IS & 46293927, @l
EXAMINATION T =g 81T

A. 45038401854

B. 56149512965

C. 57159413955

D. 672506623076

A 3 B ol S U THT R 8 T T A,
B ¥ i THT JAferer AT 91 AT B 37T A
ohl AW 3T T B T?

A. 12,30

B. 14,30
L. 10,30
D. 16,32
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20. Find three numbers in the ratioof 1 : 2 :

21.

22,

23.

3, so that the sum of their squares 1s
equal to 504.

A. 2,4,6
B. 6,12, 18
C. 3,5,8
D. 5,10, 15

In a sign language CAT can be written
as ECV, then how RAT will be written?

A. OCP
B, TCV
(AL ]
D. TPO

Suman recalls that her friend Meena’s
birthday falls between 10" and 15™
February while according to Sheela,

Meena’s birthday is after 13" and before
17" of February. When will be Meena’s
birthday?

A. 17™ February
B. 18" February
C. 19" February
D. 14" February

On putting ELPAP word in proper order
it gives the name of a fruit. What will be
the last alphabet of the word?

A. E

B. A
C. L
D. P

20.

21.

22,

23.

1:2:3%@1%&3@@T3ﬁﬂ%3ﬁ3%
fSeh a7t &1 91T 504 =N

A. 2,4,6

B. 612,18
C. 3,5.8
B 51015

Teh Teohd WT9T H CAT &t ECV fa@d &, @
RAT i & foram

A. OCP

B. TCV
C. OPC
D. TPO

YA I I1S @ [oh, Heh! Hecl| HHT

S fed i A 10 T 15 Badl o st
TSl & ek YT & STTaR HAT 1 STeHfe
13 o 91 31 17 o Ugcd = W4T T SHfeA
e T2IT)

A. 17 Sl
B. 18 ®adl
C. 19 &
D. 14 RG]

ELPAP 3762 ol SIad i UL Uk Fed
9 ST 2| 3T HAf=aq 37T =7 217

A. E

B. A
C. L
L. P
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24.  On arranging the odd number ranging

23.

26.

2],

from 1 — 45, which can be divided by 3:
in ascending order, the number at 6t
place will be-

A. 27

B. 15

C. 33

. 33

Complete the series —
212,179, 146, 113, ------
A. 91

B. 79

€ 112

D. 80

Find the wrong number in the series —
3, 8,15, 24, 34, 48, 63

A. 1D
B. 34
C. 24
D. 48

A 1s mother of B, but B is not the son of
A. What is the relationship between A
and B?

A. Father — daughter
B. Mother — son
C. Father —son

D. Mother — daughter

24.

25.

26.

27.

| ¥ 45 a < 3 9 fawrfSa g4 areft faom
AT o TS shH | I i%erd e 91
B3d T | 3 1Al G&IT BI-

A. 27

B. 13
C. 33
D. 37

St o .
212, 179, 146, 113, -
A. 91
B. 79
C. 112
D. 80

STt § TTeTd 37k Sl T8 hi-

3, 8,15, 24, 34, 48, 63

A. 15
B. 34
C. 24
D. 48

A, BHI AT €, Tg B, A T A 781 81 A 371
B ¥ 97 GeY 27

A. o -t
B. HIAT- 9
C. fuar-g
D

. HTdT — Gt

“J
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28.

29.

30.

If 8 men can reap 80 acres 1n 24 days,
how many acres can 36 men reap in 30
days?

A. 450 acres
B. 350 acres
C. 400 acres
D. 425 acres

If in the year 2006, Republic day was
celebrated on Thursday, Then on what
day in the year 2007, it would have been
celebrated?

A. Friday

B. Tuesday
C. Thursday
D. Saturday

Sunil’s position from the beginning in a
row is same as that from the end. Then
what will be Sunil’s position in this row
when there are 51 persons in this row?

A. 50"
B. 24%
C. 25"
D. 26™

28.

29.

30.

Ife 8 Safth 80 Uehe wUS bl 24 faaT &
FIed &, af 36 Afh 30 A1 § fopa wapg i
T ol IS ITET?

D. 425 UT%s

a¥ 2006 ¥ TG fa¥ TEedfaa i sl 74w
AT AT a9 2007 ¥ I% fora foT aemn

T

A. AR

B. HTddl

C. JeHlidar

D. WifHaR

T Uitk | AT & IRY ¥ F21 $IH B, S
T 31 ¥ @, 1 Gl o1 39 Ufth H &
T BT STeI{eF 30 UTth § 51 ATk 27

A. 50dT
B. 244l
C. 254l

D. 264l
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PART - 11

General Knowledge HHT ATH
31. What is included in the word ‘State’ as 31. dfqgm & 3=sa 12 °H 4ia1ivd Tsa° 31ea
defined 1n article 12 of the Constitution? o 7 giegfera 22

1) Government of India & Parliament e s s

1) State Government & State

Legislature i) TS N 3R sy faurmuea
iii) All local and other authorities ii1) Tt TAHRT 3R =7 Tiferart
1v) All Judiciaries iv) H‘q_ﬁw
& Q) A. (0)
B. @) B. (i) (ii)
€ ‘g C. (i) (i) (iii)
D. () () (1) (v D. (i) (ii) (iii) (iv)
32. What is correct about Attorney General 32. WA % HETAEETEl o fava o A Y

of India?

‘ | i) % ATHANT ¥ it Thal ol
1) He can speak in Lok Sabha.

11) He can speak in Rajya Sabha. 11) % TAGHT H e Fehell

iii) He can speak in joint session of i) % HHE o WY F 7 A1t Fehal o
Sasiament. iv) 9% GUE i fohuT off afifa ¥ ara

1v) He can speak in any committee of
Parliament. BCI

A. (1) A. (1)

B. (1) (1) B. (1) (i1)

C. (1) (1) (1) C. (i) (ii) (iii)

D. (1) (1) (111) (iv) D. (i) (ii) (iii) (iv)
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33.

34.

35.

36.

According to new curricular structure
5 + 3 + 3 + 4 of Education Policy 2020,

which classes come under the
foundational stage?

A. Only class 1-2
B. Anganwadi, Pre school, Balvatica

C. Anganwadi, Pre school, Balvatica
and 2 years class 1-2

D. Anganwadi to class 5

In an economy, if the share of its 34.

primary sector i1s 50% or more in the
total output of the economys, it is called
as-

Industrial Economy
Service Economy

Agrarian Economy

00w p

Command Economy

‘N-Protein’ has been found to be 3.

associated with what?

A. Corona Virus

B. Human Immune System
C. Plant Nutrient

D. Malnutrition

Which Indian mass movement began 36.

with the famous Dandi March of
Mahatma Gandhi?

A. Khilafar Movement

B. Non-Cooperation Movement
C. Cuvil disobedience Movement
D

. Quit India Movement

33.

fRvear ifd 2020 % = TTETFH T

5+ 3+ 3 +4 % JTER, HAYd 01 H
-1 HT &I AT 82

A. dd e 1-2
B. HITHaTE!, qd Wrerfieh forerme,

L
dlcidllconl

C. HAHaTEl, qd grriHe e,
ATATIC T T Tgardiar shetr 1-2

D. HANHATE! 8 eIl 5 d

e fegaeT #, IS 3reierase & o
3Te | 39k TrafHes &7 1 f&edT 50% AT
399 3T 2, 91 3 el ST 8-

. 3frenfieR srlegewr

. 4T Il

. FIY T

. e sreiereen

T — Y o1 Gery forEa O T 29
. ST A

SIEE BRI

. GTer Uy ad

SFTSOT

g

I U7 AT S-Sl HETcdT et o
gi&es 3l ATl & 9T Y06 AT AT

& & W >

o N = »

A. Taarsd AR
B. UM il
O I CEERCCRINC G|
D. WRd SISl JaeH
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37. Which Commission mentioned that
‘work experience’ should be an essential
part of the school curriculum?

38.

39.

A.

National Education Commission
(1964-66)

. Secondary Education Commission

(1952)

Acharya Ramamurti Review
Commuttee (1990)

University Education Commission
(1948-49)

National Education Policy 2020
recommended that a sports based
‘School Preparation Module” will be
developed for students. For which class
this module will be prepared?

A.

B
C.
D

Class-6

, Class-8

Class-1

. Class-3

The ISRO successfully launched which
earth observation satellite, in its first
launch of the year 2022?

A.
B.
C.

D.

EOS -4
EOS —2
EOS -3
EOS -5

37,

38.

o

ferer s + Secia o for <o s
forermeri urearshd @1 tfard fewar gmn
Sl

A. TSI 3181 AT (1964-66)
B. wreAtHes fRram 3mEnT (1952)
C. = THyfd et afufa (1990)
D. faafaemer fora 3mamT (1948-49)

gt ferer Hifa 2020 7 1T i 2 o6,
ferenfera o forq @et stranftd wha dard
Higgel” SHTAT SITa| ford et o fofe a8
Higge dar ferar Stra?

A. <h&ET-6
B. h&ll-8
C. h&l-1

D. h&l-3

T A FY 2022 % 39 TE TEI H fF
Gl AT ST I AHAATYa ATl
feparr?

A. 337TH - 4
B. 3AITd -2
C. 337ITH -3
D. gHITH -5
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40. Who was the commander in chief of the

41.

42.

43.

rebel army in Delhi in the revolt of
18577

A. Azimullah Khan
B. Nazib Khan
C. Karim Khan
D. Bakht Khan

Which of the following is an example of
‘Parallel Cropping™

A. Wheat + Mustard
B. Cotton + Wheat
C. Sorghum + Potato
D

. Potato + Rice

Which of the following leaders signed
the Tashkent agreement?

A. Vallabhbhai Patel and Jinnah

B. Jawaharlal Nehru and Ayub Khan
C. Lal Bahadur Shastri and Ayub Khan
D. Jawaharlal Nehru and Jinnah

Economic Survey 2021-22 has projected
how much growth in India’s GDP in FY
(23) 2022-23?

A, 8—-8.5%
B. 10.5%
. 9.2%

D. 7-7.5%

40.

41.

42,

43.

1857 o fazie # faeeht o fasidt 41 %1 wex
YA I AT

A. e @l
B. Tsig @l
C. &mar

D. J&d @

fr=fafaa & @ 19 “OqH B9
3aTET B

A. ﬁ'aiﬁﬂ'(ﬁ

$':r|¥r+ﬁ'§

B.

C. SR+ AT
D. 3Tl + dTae (9T)

fFrafattaa 9 o for Jarsti 3 arrehe aued
T EEATE for?

A. T 9IS Y Ud =T

B. SATEIdd 8% Ud 3 @l

C. drd TE1gL AT U 33 @i

D. SdTEldld 48% Ud ST

34k Faator 2021 — 22 7 fa a9 (23)
2022-23 ¥ A 1 SISIUT § fehaT aTeg &t
ST AT 87

A. 8-8.5%

B. 10.5%

C. 92%

D. 7-7.5%
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44. Red colour of soil is caused by which of
the following?

A. Aluminium Compounds
B. Iron Compound

C. Mercury Compounds
D. Clay

45. Gini coefficient or Gini ratio can be
associated with which one of the
following measurements in an
economy?’

A. Rate of Inflation
B. Poverty Index
C. Income inequality

D. Personal income

46. If Vice President is working as acting
President and Office of Deputy

Chairman of Rajya Sabha is vacant, who

will preside over the meetings of Rajya
Sabha?

A. A person appointed by President
B. A member appointed by President

C. Deputy Chairman will be elected by
Rajya Sabha

D. A member as determined by the
rules of procedure of Rajya Sabha
47. Which of the following is related to the
Yashpal Committee Report (1993)?
A. Learning through broadcasting

B. Learning without burden

C. Information and Communication
Technology (ICT) in Education

D. Learning by Insight

44. fugh 1 et o1 frfafad & @ forees mor
gIdl 87

. Ul i
. i A
I AR

EE]

45. firft wpories A1 T StaTd 1 SreferaTe |
freferaa 9 ¢ forg 90 @ Ser ST gshar 22

. HETEhIfd skl 3T
. TSt ik
A AYHATACT
. HTHITd 3™

o N w p

o0 % >

46. afy Iwrseufa, Tegafa % w0 ¥ FR @R
3 ST GHT § SUGHTITd o1 92 ik g al
TSAGHT hl S3ehl T ITEFRIAT i HUM?

egqid ST Y Tk Afth
gy g e Tk weed
3UgHTITd <1 A= UsaasT Ui

Uk TeET ST USIEHT o <11 6 g
st forar mar 2

°c 0w p

47. =9 Y TohaeT GaY I99Te FHHel fure
(1993) ¥ &7

A. TR o gRT HIEHT

B. fom sz o di@n

C. TRI& | g7 3N H=R qeh1eh
D. % g diEAT
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48.

49.

50.

‘Operation Black Board’ 1s related to
which of the following?

A. Providing Black Board 1n all
schools

B. Promote the use of Black Board in
the schools

O

Providing basic facilities in schools

=

Increasing enrollment of students in
schools

Which city has been the hottest place on
earth with a record 53.2 degree Celsius?

A. Chennai
B. Dubai
C. Kuwait
D. Delhi

Which of the following is the longest
river 1n India?

A. Godavari
B. Brahmaputra
C. Indus
D. Ganga

48.

50.

HHIRad 9 9 < HAT9RM scieh 9IS’ ol Hea9
R

A. Tt foremet o seie de 3ueey A
5|

B. [Eemeam | scieh 91 & 3TN Sl Jera]
& fou

C. foareai 4 gera gfaamd Sucred s
g

D. faenaan ¥ faenfea s AT sem @

ferTE 53.2 Teuft dfcwad o 9T &F 91 et
et O Her TH T TRT 27

A. 9=
B. =%
C. Fdd
D. fael
frafafad ¥ ¥ #19 Yra $ gay ast
TET B2

A. TIETE]

B. &

. fiy

D. T
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PART - 111

Educational Interest

S1. Students should choose the subject-

A.

B.
&

D.

52. 1If a student is consistently late to school,

On the basis of usefulness of the
subject

As per the wishes of the parents

As per the instructions of the
teachers

According to their ability and
interest

then-

A.

B
L.
D

complain to his parents

. tind out 1ts reasons

expel the student from the school

. punish him in front of all the

students

53. Modern cinema influences the students-

A.

B.
L.
D.

In running away from home
In daydreaming
In carrying out creative tasks

In appearance resembling actors

54. Communication in the classroom
depends on-

A.

B.

0

On the ability of the teacher to
explain

On the difficulty level of the subject
On the merit of the students

On the classroom 1nteraction

51.

52,

53,

54.

foTeroT arferster
ferenfer p faw=r =1 999 AT ITTed-
A. Taw &1 3TFIRTET = Mg W
B. et it 3oER
C. fRrerer o fauim f4dr & 3gar
D. 3ehl &HdT 9 & & FLER
¢ Ueh S AN [T | faeis 9 37dr
T, dl-
A. 3 fsrraenl § fRrepmrd sl
B. Yk SN T IdT AU
C. B ol [qene™ ¥ e a7
D. G+l M % 914+ 34 afed 3l
Tk [G=9T BET Rl AT LT 2-
A. Y IATTH |
B. feamawi ¥ |
C. TEATH A1 ol QU A §
D. sAfyearst s foa foam
Feql-hed H G (8T 3T ©-
A. TRTeTeR 6T TIE A <l 0T T
B. fowa &l shfaars Tt @
C. foaenfer i amarw
D. & Hd: TR o
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55. The best assessment of teacher’s ability 55. 37eATgeh I AGAT U SITEI ol T 31T
and behaviour 1s done by equivalence- He oA g Hd B-

A. Their headmaster A 3T TSI

B. His students

B. 3% 8F

C. Elite people of the society
C. THTS & THd A
D. Expert scholar

D. fereiog fagm
56. [t is necessary to give the details of the 56. AT T Wl ST SART SATTHTERT Rl &A1
progress of the students to the parents- TIYTF &-

A. It enables parents to know the
progress of their children

A. Y AT 394 I<dl hl WIid STH

aohd 8
B. It gives proper advice to the parents
for applying tuitions B. 399 MTHE FI A T i 3fad
getre fierdi 2

C. It keeps fear in children

. S=al § ST §47 &1
D. Children can not give wrong C. T el &

information to parents

D. d=d ATHEHI &l TAd AFHAT T8l 2
qehd

37.  According to you what should be the 57. Uk HATIE fRTear 6T 3ETF T BT ATfEA?
aim of education?

A. T8 U8 A o SUTd e

A. Job after getting education

B. S hl AHG Jradr &1 farmg

B. Development of mental ability of
the students

C. Bl &l FH AL TTHT

C. To make students efficient literate

D. Teteh 1 90T farehre

D. All round development of children

SPACE FOR ROUGH WORK / T& & & fora Jre

20362-MYWLN-PRV-VYX-M 19 45 Set A

Scanned with CamScanner


https://v3.camscanner.com/user/download

58. The responsibility of the country will 58. TS & Al o el UL & e <3 T S1ed

rest on shoulders of today’s children. ST S° e o1 99T 3791 22
What is the meaning of this statement?

A. <Al T T HTed HEAT AT

B. o=l &l ¥l | e gfRreror a1
B. Children should be given physical SHED]

training in schools _
C. S=di o GHd [hE W eI a1

A. Children’s shoulders should be
strengthened

C. Attention should be paid to the e
proper development of children
D. Less load should be kept on the D. Sl 9 Y SR TEHT =i
children
59. It is believed that female teachers are 59. T ST @ o6 afear freres grafus @ fi
more suitable for primary level fS1e1r & forr aferen 39T 3, -

education because-

A. They work with children patiently A. AT % T aﬁq‘ﬁﬁ S I & T

and lovingly Pt §
B. They have less opportunity for other B. 3 U 31 AIUMI o [ &4
occupation I
C. They agree to work for less wages C 3 RE GAd T R S T A
D. There is no need of any gl &

qualification for primary education

D. rerfires fRre o ford o Fraar < =g

JTIIHAT T8l ©
60. How can moral values be included in 60. foremfer o ﬁﬁ&"qﬂﬁ?ﬁ MEARHACTES |
the students? gehd 29
A. By morning prayer A ﬂaﬁﬁﬁmﬁm

. Giving lectures on moral values

B. Afde qedi 9L AT 3
_ | C. UTSTSHH o HTY Halad e
. By telling the life story of great
people D. W& oAfthal i e sttt

B
C. Relating to the curriculum
D
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61. The best means to study the evil
prevailing in the society are-

A. Contact with students
B. Contact with parents
C. Social survey

D. Book study

62. How does a teacher establish a good
relationship with his students?

A. Always making them laugh
B. Keeping proper distance from them

C. Diagnosing their problems after
listening to them

D. By making students his best friends

63. What is teaching?
A. A skill
B. An art
C. An action only
D

. A penance

64. By whom should teachers be evaluated?
A. By the inspecting officers

B. By their concurrent and higher
officers

C. By society
D. By his students

61. fyenc THTSI H SATH SISAT 1 TETAT i
gaiaq 919 &-

. BHE 9 UF
. YT ° WU
. gTHIiSIR gaeqor

C 0w >

qedch Seddqq

62. uw fRrerer 319 BET H HEL WY [FH THR
I AT 57

A. 3¢ 9ad &l UST ek
B. mﬁaﬁaiﬁw

C. 3! GLITHT I G & o18 IAH
e ek

D. ST Sl JAYAT YN T4 ST

63. f3reqor |1 Y
A. U HIITA
B. T ohedl
C. U& fspaname

D. Tk Ut

64. farereni =T Yoo fohaeh ST 2T 1fed?
A. Tiveqor stferentiaT g
B. 3 UHGdT 3T 3= AT 5T
C. THIS E
D. 37 Rrefear gry
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65. If there is politically debate going on,

Will actively participate
Will enjoy

Will be on one side

O 0 W »

Will not pay attention

66. As ateacher, in which work would you

like to spend your evening time?
A. In discussing politics

B. In entertainment activities

C. In other work of getting money
D

. Social work

67. A teacher should use audio-visual aids

because-

A. A students are interested in the
lesson.

B. Keeps the attention of the students
focused in the studies.

C. It is helpful in providing real form
to knowledge and in diversifying the
lesson.

D. All of the above

68. For the development of creative

thinking in the class, the teacher should-
A. Keep an open environment
B. Keep the students under control

C. Do not let them deviate from the
traditions

D. Provide them the right education at
every step

65. s+ usHifae 59 21 @ &, af 31m-

A.

B
c.
D. €I & A8l aff

66.

A
B
C
D

67.

. IS F-H

afska ¥9 9 91T &1

fepeT wer ey hl 3T @

Uk 3TEATYh o &9 |, 3719 3794T ITH T 9
for Rl § T 9EE HEr?

AEEIGEIE ek
A &t o
ST & 31T S |

Ueh AT ol q99-275F WTHUT Tl ST

A.

SET 61 13 T & w=dt B

B. SEI I &M USTs | hi-=d &al 2l

68.

I I AT €Y Y 4 U9 U138 |
fafarear &< & |8/ Bidt 8

SUTIRh T+

T H GSHTeHe foa=ad o faerra = fRrere

I I foF 98 e 6-

A,
. BAI HI ([aEd W@

B
C.
D

3 ATy T

38 TS T ged ¢

. TaH-heH YT IR UeT f3rer e &
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69. What will you do if there is a shortage 69.

of teaching aids in the school?

A. Will teach without any auxiliary
material

B. Will not care about all these

C. Will use self — made auxiliary
material

D. Will complain to higher authorities

70.  Which of the following book would a 70.

teacher like?

A. Mental ability

B. Gita

C. General knowledge
D. Methods of teaching

71.  All round development of the students 71.

can be done-

A. By providing good educational
facilities

B. By making them aware of social
responsibility

C. By giving knowledge of self interest
in the students

D. By giving them money

72. How is it possible to improve 72.

education?
A. Administrative reforms

B. By changing the examination
pattern

C. By spending more money on
education

D. By appointing best teachers

fe frener 4 fremr gerres gt <1 31
&, dl 3ATT 7 1)

A. o weraes arft o freror &t
B. T Goh! 9LdTE T8 il

C. TaiHTd ggre gt o1 SISl
D. 3=a Afueriiai ¥ frera i

e freres Frefafaa o & #F € oo vee
HTT?

. HHETEE I
i

. T I
. Tereqor <6 faferat

STAT T GaT o forehrer o ST geha 2-
. =l Treror gfaren 3o

. IS SR o1 ST ohidT o

. DA H Y o fed 1 JH

. S G G

A
B
&
D

o 0O W >

ferer & gam foFe wehm @va 22
A. SRITEEF U g

B. uiter vesfd o ufiady ek
C. foremm ww a1fees g7 @<
D. =8 et i Fafs #
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73.

74.

i 8

76.

4

A successtul teacher 1s one who ------

A.

B.
G
D.

gives good marks
looks after the regular homework
maintains strict discipline

remains aware of the progress of the
students

Teaching should be done mainly by ----

A.

B.
&
D.

By skilled and trained teachers
By untrained person
By experienced teachers

By young talented persons

Successful leadership 1s-

A.

B
C.
D

Democratic

. Monarchical

Group based

. Dictatorship

While using ICT in classroom teaching-

A.
9,

.

D.

There will be no need of teacher

The work load for the teacher will
be more

The teacher’s role will be that of a
co-ordinator

The role of a teacher will become
central

What does the development of the
nation depend on?

A.

B.
C.
D.

on human means
on forest resources
on mineral resources

on physical means

73.

74.

T

76.

7 if A

D. I

TheT Iqcd BT &-

A.

EIGIEED

B. TSdiE
L
D. dHETEel

Y HATHTHA

T foreaoT 7 ICT STk hid Hod-
A. STEATTS T SATATAHAT T Lot

=

D.

AT o foi 9 A o Sramm
eI i qHH G- o &9 H

Tl
TEATTe, ol SHeHT Heald Bl ST

Tz 1 forehre o o it s 22

A.
B. a9 ATeAl W
L.

D. ifde aradi 9

AT 99T T

@1 92Tel 9reET 9t
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78.  Suppose one exceptional student sitting 78.

in your class and gives quick answers to
all your questions. What will you do in
relation to your students?

A. You will ask comparatively difficult
questions and explain to be him not
impatient.

B. You understand that he should
immediately give all the answers so
that you can be free from your
responsibilities.

C. You will say that being impatient in
class is inappropriate behaviour.

D. You will ask highly complicated
question to the student, so that he
will realize that you are one of the
best teachers.

79. What will you do if your exam result is 79.

not good?

A. Will blame the students

B. Will consider himself guilty
C. Will not care
D

. Will try to know the reason

80. This is the reason for the highest 30.

dropout rate in rural areas-

A. Irrelevant courses

B. Poverty

C. Zeal for quick employment
D

. Inappropriate inter-personal
relationship with teachers

99 ST 3maehl SHedl § Ueh Siasreiet S
o131 & 3T 319k gt 4T o cafid I 2T
2| 319 319 B & Ga9 T F97 |9

A. T TS 39 H FHioT T4 I7 31
34 AT 7 B o fod gwEm

B. 39 9w @ foh 3¢ qid @i St 3 &
fed, afer 31ma 7ot et 9 9
&l HeHl

C. 3719 38 el foh e § e 3T
ST AT o

D. 79 forameff & sreafersr STfeet w4 gl
g 78 ey = o 39 gey 3=
fS1erepi & ¥ U B

3t ATIRT 9EieT iy 3r<sT T8 8, dl

. ST T T JTed hidl
yTHToT &A1 § et e aret S gaifies
T T BT B-----
A. SAITEATE YTSAHH
B. sl
C. wafid ISR & ford Segera
D. fRrerent o ATy STAIIH TREIHEE Hee
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81

82.

83.

84.

PART -1V

General Hindi

. “TETHL, T TG L5 I AT AT 2

A. Hhddrdes

. S=IMEES

B
C. J4drdsh
D

. Gegarae

34 FEd o-
A. FH
B. a4
C. &
D. o

A. Taa

B. #HAREH
C. o=

D. 919

A. HTEAT
B. fam
C. TR
D. =xfsg

T o 579 %9 | awq o S 19 2T e,

I |1 ST 3ree 27

Tl o (Hferd gl =l had ©-

85.

36.

87.

88.

amaT=g &=t

AleT 9162 2-

%

o 0 W

T T T 37 ©-

A. T Ia o faT aam =T
B. qfas gHT

C. o QT L o FHEd g

D. 9T hT SATTEET ST

‘TSI I 9T T 82
A. FHIRF

B. fam

C. gy

D. wgsiife

WTNT o €& &9 T I fehed 2iar 87

feafa
. TAfad v

oqlhil]

oS 0w p

93
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89. Y 3feAT R ST 7 ST "k o o U wrsg 90.  3731eq 707 I TEATHT-

T 87

A. ST
A. Sgdl B. gdt
B. SR C.at;—cla?«r
C. 3§« D. wifefcask
D. 3ol
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PART -V

General English

Read the following passage:

After dinner, all the gang turned
out to hunt for turtle eggs on the bar.
They went about poking sticks into the
sand and when they found a soft place
they went down on their knees and dug
with their hands. Sometimes they would
take fifty or sixty eggs out of one hole.
They were perfectly round, white things,
a trifle smaller than an English Walnut.
They had a famous fried-egg feast that
night and another on Friday morning.
After breakfast they went whooping and
prancing out of the bar and chased each
other round and round, shedding clothes
as they went, until they were naked and
then continued the frolic far away up the
shoal water of the bar, against the stiff
current, which later tripped their legs
from under them from time to time, and
greatly increased the fun. And now and
then they stood in a group and splashed
water in each other’s faces with their
palms, gradually approaching each other
with averted faces, to avoid the
straggling sprays and finally gripping
and struggling till the best man ducked
his neighbour and then they all went
under in a tangle of white legs and arms
and came up blowing, sputtering,
laughing and gasping for breath at one
and the same time.

Now answer question nos. from 91 to
93 based on the above passage.

91.

92.

93.

AT 3T

What effect did the stiff current have
upon the gang?

A. It splashed water in each other’s
faces.

B. It tripped their legs from under
them.

C. It greatly increased the fun.
D. Both B and C.

In the given passage the word “bar’

appears thrice. What is the meaning

of it?

A. a straight piece (as of wood or
metal) that is longer than it is wide
and has any of various uses (as for a
lever, support, barrier, or fastening)

B. asubmerged or partly submerged
bank (as of sand) along a shore or in
a river often obstructing navigation

C. asolid piece or block of material
that is longer than it 1s wide

D. something that obstructs or prevents
passage, progress or action

Read the line, “They were perfectly
round, white things, a trifle smaller than
an English walnut’.

This line describes the -

A. The breakfast

B. The famous fried-egg feast
C. The turtle eggs

D. Splashing of water
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94. Given is a statement- 96. There are some definite stages to writing
an ‘argumentative essay’. Here are some

Rajesh is opening a new pizza shop next of them, but they are not in the proper
week. order:-

In light of the given statement, read the I.  Writing the first draft

following arguments:- II. Introduction of the argumentative

text
III. Developing a perspective
[V. Final draft
Now choose the correct option:- V. Peer-feedback and editing

A. Only Argument I is correct

[. It indicates present time.
[I. It indicates futurity.

Now, arrange them in the proper order.
A. T-TI-TT-1V-V
B. I-I-1I-1IV-V
C. I-1I-1-1v-V

B. Only Argument II is correct

C. Both the Arguments I and II are
correct

D. Both the Arguments I and II are

incorrect D. I-MI-I-V-1IV
95. Punctuate the given sentence- 97. Give the one word for the following
expression-

‘an ofticial written record of what is
discussed or decided at a formal
meeting’.

what a great shot

r}
A. What a great shot’ A. Report

B. What a great shot! B. Summary
C. Reportage
C. What? a great shot. D. Minutes

98. While writing a paragraph, we keep
D. What, a great shot? ‘cohesion and coherence’ in mind.

A. Cohesion is the sense — connection
. Coherence is the logical connection

B
C. Both Aand B
D

. “Cohesion and coherence’ mean the
same 1dea
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99. Read the following statement from a 100. Which of the following is not a member

notarized rent agreement:- of word family ‘wit’?
“The tenant shall pay the rent in A. witty

advance.’ B. witness

Here the word “shall’ expresses- C. outwit

A. Futurity D. witticism

B. Volition
C. Legal binding
D

. Indication
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45 | SETA

IR 3ifohd S hT OHT ; 262 terehaw 3ieh : 100
Time for making answers : 2 Hours Maximum Marks : 100
e
1. 39 Wy qfeaeht § 100 W¥ & — Wk W7 01 37k 1 8 | At 0 S AT 7

qrr | T Sht AEAT | ek

I | o= aetes grgat 30 30

11 qaE-a 7 20 20

11 | Toreror srfsrsi 30 30

IV | ame et 10 10

V | amea st 10 10
2. 9o %W,E’TTI%QMRW—W{MSWH sheet}ﬂtafrﬁﬁ 'm‘:\ﬁml
3. TAUTTCHeR Hodiehd Tgl fohaT SITa |
4. ToRET ot TE o HTHE AT AN S TS HIATSA I hi TR Jid 2 |
-~ 8 OMRET-IT—{?ﬁE(answersheet)wmﬂﬂﬂmﬁﬁaﬁémﬁ#mﬁﬁﬂﬁﬂgﬁﬁﬁm

IOH HIE AT fUeae oATie ug I 91 98 @d 8 9H |

Note :

. This question booklet contains 100 questions each question carries 01 mark.
All questions are compulsory.

Part | Particular No. of Questions | Marks
I | General Mental Eligibility 30 30
I[I | General Knowledge 20 20
[II | Educational Interest 30 30

IV | General Hindi 10 10
V | General English 10 10

Indicate your answers on the OMR answer sheet provided.
No negative marking will be done.
Use of any type of calculator or log table and mobile phone is prohibited.

h B Lo

spoiled due to folds or wrinkles.

While using answer-sheet care should be taken so that the answer sheet does not get torn or
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